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®112 @7p 917 — The discounted price of reeds.

Overview

27 72 X1 1s of the opinion that "0y ' who maintains that the Ap°1 must pay
for all four walls, is referring to a payment of 212 0°1p *»7, not more. This is
certainly much less than the actual cost of the walls (which are presumably
made of stone) and it is also (presumably) less than the improvement made
to the property of the A°1. The value of his property increased more than the
price of 712 0°1p 7. Moo will explain why the owner pays only 2°3p 17
2.

mooIn asks:

NI X% 9280 a8 — You may ask; why is this case different -

Pusd Ty AR a7wn — from a field that is not intended for planting
treesl;

mMwas K5 an avwvl ax7? — that if his friend planted it without
permission from the owner —

(%,%p 07 XYoEn K32) PRIV DRI 29 R -2 and Ry rule in »Rw P

Y® Pmw— we assess for the planter the value of the improvement in the field as opposed
to his expenses for improving the field -

snnnn Y 17 — and his hand is on the bottom (he is in a weakened position);
i.e. the planter receives payment from the owner for the lesser of the two (if the expenses
are less than the improvement, he only receives the expenses, and vice versa). The owner
must pay regardless, since he derived benefit from someone’s expense. We see that in
this case of planting, the owner must pay at least for the lesser of the two; either for the
expenses or the improvement. The same should apply in the case of our 71wn with the
fencing. Why is it that the owner has to pay only 712 2°3p *n7, which is less that either the
improvement or the expenses?

MDOIN answers:
NO7 SINRW'T Prxs 1929 XY — and the °''9 says that here in our mwn it is
different from the case of the planter —

"B 930 17979 % MR 31T — for the AP°1 can claim; for me it is sufficient to
have it

NTIT 92 X9°v1 — watched for a 197, The value of the improvement is only a 171. I could

hire someone to guard my field for a 111. Therefore for the owner the improvement is only
worth a 17.

' 901N compares our 71wn to a YUY AMWY APRW 7T, because in our AWM it is also 7MWY ATX to fence in
fields in a 7ypa.
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mooIn anticipates the following question. If the owner claims that the improvement is
worth only a 11, why should he pay even for 2112 °3p *»7? The owner should just pay a
7. MooIN replies:

2pn 9221 — Nonetheless, even though the owner claims that it is only worth a 17 —
799 297 9112 291 "7 — he must pay still the 7°pn the price of 9112 @%ap %7
57710 187 — for we (the 17 n°2) will testify —

b2 1o o ARz 17197 ar7T — that if he could find the o°3p for this discounted
price —

2772 972 7197 — he would fence in his property with them. A person will do
something beneficial even if it is not that essential, if he can accomplish it for a
substantially reduced price. He would rather his property be fenced in by using 217 "7
212 than paying for a 817 92 X701 (which is cheaper). Therefore he must pay for the n7
9312 o°3p, since he appreciates it and it is worth the price. His field did improve by (at
least) 91r2 °1p nT.

Summary
In our 71wn we do not rule that the Ap°1 should pay the lesser of either the

expense or the improvement, because the owner can claim, this
improvement is only worth the 117 that I usually pay the watchman. However
he is obligated to pay 172 2°1p "7 (not just a 17), because there is the IR
7770, that were he able to obtain 772 0°3p, he would certainly fence in his
field with these 0%1p.

Thinking it over

moon answers that the owner can claim that I require only a X7 72 X701,
Why did not m»oIn answer that the owner can claim that I only require a 273
(212)* 017, not a 0°1aK 1737

% This way Mmoo would avoid his last question of 13177 n"»1.
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